

Gold Round 1 Gold Round 2 Gold Round 3 Pool A -CV Court 2, Game 2 Ref: Loser game 1 CV Pool B **BRENTWOOD** 25-12, 25-17 Court 2, Game 4 CV Pool C MARK KEPPEL 25-21, 26-24 Court 1, Game 1 **WEST RANCH** Ref: Montebello Pool D -**WEST RANCH** 25-16, 25-14 1st Place Court 2, Game 6 **MONROVIA** Ref: Loser gam Pool C -**MONROVIA** 20-25, 29-27, 15-11 Court 2, Game 1 Ref: CV **CHAMPION MONROVIA** Pool D -**UPLAND** 26-16, 25-9 2nd Place Court 1, Game 4 **MONROVIA** 25-12, 19-25, 15-13 VILLAGE CHRISTIAN 2nd Place Court 1, Game 2 **MONTEBELLO** MONTEBELLO 25-13, 25-18 1st Place **WEST RANCH** Court 1, Game 6 **WEST RANCH** Ref: Loser game 5 **MONTEBELLO** 20-25, 25-12, 15-9 3rd Place **BRENTWOOD** Court 2, Game 3
Ref: Winner game 2 **MARK KEPPEL MARK KEPPEL** 25-18, 25-13 Court 2, Game 5 **MARK KEPPEL** Ref: Winner game 25-12, 25-16 **UPLAND** Court 1, Game 3 **UPLAND** 5th Place Ref: Winner game 2 **VILLAGE CHRISTIAN** 14-25, 25-20, 15-12 **BRENTWOOD**

Tourr #4	nament MVP Jesse Lee	ОН	Monrovia
All-To	ournament Team		
#14	Ethan Woo	MH	Monrovia
#9	Oscar Montalvo	S	Monrovia
#27	Scott Song	ОН	Crescenta Valley
#10	Isagani Cabrera	S	Crescenta Valley
#4	Jesus Arreguin	ОН	West Ranch

Court 1, Game 5
Ref: Winner game 4

VILLAGE CHRISTIAN 25-22, 25-23

VILLAGE CHRISTIAN

7th Place

SILVER DIVISION

Burroughs

25-17, 18-25, 15-11

CHAMPION

Burroughs
Pool B - 1st Place

Marshall
Pool A - 1st Place

La Canada

Pool A - 2nd Place

Pool A - 3rd Place

Viewpoint

25-21, 25-18

3RD PLACE

Pool B - 2nd Place

Viewpoint

West Covina

20-25, 26-24, 15-6

West Covina 5TH PLACE

Chaminade

Pool B - 3rd Place

SILVER PLAYOFF POOL A

La Canada vs **West Covina** (9:30, Ct 3) West Covina 21-25, 27-25, 15-10

West Covina vs Marshall
Marshall 25-18, 25-16

La Canada vs Marshall La Canada 25-22, 21-25, 15-9

SILVER PLAYOFF POOL B

Chaminade vs **Viewpoint** 9:30, Ct 4) Viewpoint 25-23, 25-18

> Viewpoint vs **Burroughs** Burroughs 25-27, 25-18, 16-14

Chaminade vs **Burroughs** Burroughs 25-13, 25-17

POOL A

1	
7	

	Match		Gan	nes	Points		
<u>Finish</u>	<u>Won</u>	<u>Lost</u>	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
1st CV	3	0	6	0	150	99	1.52
3rd La Canada	0	3	0	6	101	154	0.66
2nd Village Christian	2	1	4	2	145	131	1.11

ref: Vincent Ramirez

			\ 0	^{ka} Canada	Village Christian	
La Canada	vs Village Christian	Gm 1		27	29	
		Gm 2		14	25	
Ref:	CV	Gm 3				
CV	vs Village Christian	Gm 1	25		19	
		Gm 2	25		22	
Ref:	La Canada	Gm 3				
CV	vs La Canada	Gm 1	25	10		
		Gm 2	25	21		
Ref:	Village Christian	Gm 3				
Village Christian	vs Brentwood	Gm 1			25	17
		Gm 2			25	23
Ref:	CV	Gm 3				
CV	vs Chaminade	Gm 1	25			6
		Gm 2	25			21
Ref:	a3	Gm 3				

POOL B

(Middle Court)

	Match		Games		Points		
<u>Finish</u>	<u>Won</u>	<u>Lost</u>	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
3rd Chaminade	0	3	1	6	108	164	0.66
1st Montebello	3	0	6	0	150	92	1.63
2nd Brentwood	1	2	2	5	140	154	0.91

ref: Richard Lyans

				Chaminade	Montebello	Brentwoo _d	
Montebello		vs Brentwood	Gm 1		25	16	
			Gm 2		25	20	
	Ref:	Chaminade	Gm 3				
Chaminade		vs Brentwood	Gm 1	20		25	
			Gm 2	26		24	
	Ref:	Montebello	Gm 3	8		15	
Chaminade		vs Montebello	Gm 1	17	25	<u>, </u>	
			Gm 2	10	25		
	Ref:	Brentwood	Gm 3				
La Canada		vs Montebello	Gm 1		25		14
			Gm 2		25		15
	Ref:	b1	Gm 3				

POOL C



	Match		Games		Points		
<u>Finish</u>	<u>Won</u>	<u>Lost</u>	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
зга Burroughs	1	2	3	4	143	149	0.96
2nd Mark Keppel	2	1	4	2	143	122	1.17
1st Monrovia	3	0	6	1	159	128	1.24
4th West Covina	0	3	0	6	104	150	0.69

Dan Radcliff			Buroughs	Mark Keppel	Monrovia	West Covina
Burroughs	vs Monrovia	Gm 1	20		25	
		Gm 2	25		17	
Ref:	Mark Keppel	Gm 3	6		15	
Mark Keppel	vs West Covina	Gm 1		25		12
		Gm 2		25		16
ref:	Burroughs	Gm 3				
Burroughs	vs West Covina	Gm 1	25			23
		Gm 2	25			17
Ref:	Monrovia	Gm 3				
Mark Keppel	vs Monrovia	Gm 1		25	27	
		Gm 2		16	25	
Ref:	Burroughs	Gm 3				
Monrovia	vs West Covina	Gm 1			25	14
		Gm 2			25	22
Ref:	Mark Keppel	Gm 3				
Burroughs	vs Mark Keppel	Gm 1	25	27		
Moved to Court 1		Gm 2	17	25		
Ref:	West Covina	Gm 3				

POOL D (upstairs)

		Match		Games		Points		
<u>Finish</u>		<u>Won</u>	Lost	<u>Won</u>	Lost	Pts for	Pts Ag	Pt Diff
2nd Upland		2	1	5	3	163	149	1.09
зrd Marshall		1	2	2	4	143	143	1.00
4th Viewpoint		0	3	1	6	127	163	0.78
1st West Ranch		3	0	6	1	165	143	1.15

			Upland	Marshall	Viewpoint	West Ranch
Jack Johnson				Ž		2
Upland	vs Viewpoint	Gm 1	25		13	
		Gm 2	21		25	
Ref:	Marshall	Gm 3	15		7	
Marshall	vs West Ranch	Gm 1		24		26
		Gm 2		25		27
ref:	Upland	Gm 3				
Upland	vs West Ranch	Gm 1	25			22
		Gm 2	22			25
Ref:	Viewpoint	Gm 3	5			15
Marshall	vs Viewpoint	Gm 1		27	25	
		Gm 2		25	15	
Ref:	Upland	Gm 3				
Viewpoint	vs West Ranch	Gm 1			22	25
		Gm 2			20	25
Ref:	Marshall	Gm 3				
Upland	vs Marshall	Gm 1	25	22		
Moved to Court 2 - Lyar	าร	Gm 2	25	20		
Ref:	West Ranch	Gm 3				